700RB-Il Power Amp 206-0250-B1

Part No. REEENIE Description Manufacturer Mfr. Part No.
001-2060-0 U2 LM555, TIMER NATIONAL LM555CN

001-3886-0 Ul LM3886 ,68W AUDIO POWER AMP NATIONAL LM3886T

010-0001-0 Q1 Q4-6 Q8 Q21 2SC3478, NPN,180V,100MA, TO-92 NEC 2SC3478-K
010-0003-0 Q11 2SC3502-F,NPN,200V,100MA, TO-12€ TOSHIBA 2SC3502

010-0010-0 Q2 Q2A 2SC2240BL, NPN,120V,100MA, TO-92 TOSHIBA 2SC2240BL
010-0012-0 Q18-19 Q30 MPSAOG6, NPN,80V,500MA, TO-92 MOTOROLA MPS-A06

010-0035-0 U3 LM35DT, TEMPERATURE SENSOR, TO-22C NATIONAL LM35DT

010-1002-0 Q9-10 Q20 2SA1376, PNP,180V,100MA, TO-92 NEC 2SA1376-K
010-1003-0 Q14 2SA1380-F,PNP,200V,100MA, TO-12¢€ SANYO/TOSHIBA 2SA1380-F/E
010-1013-0 Q12 Q15 MPSA56 PNP 80V 500MA TO-92 MOTOROLA MPS-A56

012-0002-0 Q13 Q16-17 2SC4793,NPN,200V,1.5A,2-10R1A TOSHIBA 2SC4793

012-0003-0 Q25-27 Q32 Q34-35 2SC5242,NPN,230V,15A,2-16C1A TOSHIBA 2SC5242-0
012-1002-0 Q3 Q7 Q33 2SA1837,PNP,200V,1.5A,2-10R1A TOSHIBA 2SA1837

012-1003-0 Q22-24 Q28-29 Q31 2SA1962,PNP,230V,15A,2-16C1A TOSHIBA 2SA1962

014-0070-0 U5 LM317 NATIONAL LM317

014-1072-0 U4 LM337 NATIONAL LM337

020-0004-0 D13 1IN755A, ZENER,7.5V,500MW ,D035 TAITRON IN755A

020-0036-0 D5 D9 1IN747A, ZENER, 3.6V, 5%, 400MW, DO-35 TAITRON IN747A

020-0050-0 D8 1IN751, ZENER,5.1V,10%,400MW,DO-35 NATIONAL IN751

020-0240-0 D21 1N970B, ZENER, 24V, 5%, 500MW, DO-35 TAITRON 1N970B

020-1000-0 D2-4 D10-11 D14 1N4148, RECT-FAST, 200MA, 100V MOTOROLA 1N4148

020-1022-0 D6-7 BAV20, RECT, 200V, DO-35 NATIONAL BAV20

020-1104-0 D15 SHOTTKY, 1A, 40V, 10NS, DO-41 MOTOROLA 1N5819

020-1120-0 D1 D12 MUR120,RECT-FAST, 1A, 200V, 25NS, 59-04 MOTOROLA MUR120

020-1122-0 D18-20 D22-24 MURA410, RECT-FAST, 4A, 100V MOTOROLA MUR410

020-2106-0 D16-17 1N4004,RECT,1A,400V,DO-41 TAITRON 1N4004

022-3002-0 R81 THERMISTOR, NTC 1 OHM, 10AMP UEI N20SP001M
022-3025-0 R80 THERMISTOR, NTC 4 OHM, 6AMP UEI N15SP004
023-0112-0 BR1-3 BRIDGE, 25A, 200V, VERT, PC, MO25S-02 CHENG-YI MP25-02S
031-1336-0 C20 C26 CAP,ELEC,RAD,336,20%,25V UNITED CHEMI-CON SRG25VB33RM5X7LL
031-2105-0 Cl3C21 CAP,ELEC,RAD, 105, 20%, 50V UNITED CHEMI-CON C440C105M5U5CA
031-2106-0 C33 C36-37 CAP,ELEC,RAD, 106, 20%, 50V UNITED CHEMI-CON SMG50VB10RM5X11LL
031-2106-A C7 CAP,ELEC,RAD, 106, 20%, 50VNP UNITED CHEMI-CON SMEBP50VB10RM6X11LL
031-2107-0 C9 C31-32 CAP,ELEC,RAD,107, 20%, 50V UNITED CHEMI-CON SMG50VB101M8X11LL
031-2159-0 C30 C38 C40 C47 CAP, ELEC, RAD, 159, 20%, 50V UNITED CHEMI-CON SMH50VN153M35X45T2
031-4475-0 C16 C19 CAP,EL-R,4.7UF/100V, M UNITED CHEMI-CON SMG100VB4R7M5X11LL
031-4476-0 Cl14 C17 CAP,ELEC,RAD,476,-10%+50%,100V UNITED CHEMI-CON SMG100VB47RM10X12LL
032-4103-0 C23 CAP,PE,103,5%,100V, PANASONIC ECQV1103JM
032-4104-0 C4-6 C18 C24 C34-35 C41-46 CAP,PE,104,5%,100V, PANASONIC ECQV1104JM
032-4333-0 Cl1 CAP,PE,333,5%,100V, PANASONIC ECQV1333JM
032-4472-0 C1 C3C8C27-29 CAP,PE,472,5%,100V, PANASONIC ECQB1472JF
032-4474-0 C48 CAP,PE,474,5%,100V, PANASONIC ECQV1474IM
032-7104-0 C2 C25 CAP,PE,104,10%, 250V ILLINOIS CAPACITOR 104MSR250K
034-4221-0 C10 CAP,MCR,220pF,5%,100V, TAITRON TMRS221J100NPOB
034-4471-0 C12 CAP,MCR,470pF,5%,100V, TAITRON TMRS471J100NPOB
034-7103-0 C39 CAP, CERMIC DISK, 103, 10%, X-250V PANASONIC ECK-DRS103z2V
035-8030-0 C15 CAP MICA AXIAL , 3pF, 10%, 500V CORNELL CD10CD030D03
035-8561-0 C22 CAP MICA RADIAL, 561, 5%, 300V CORNELL CD15FC561J103
052-2212-0 R43 R45 RES,METAL FILM,2.21k,1/4W,1% ECI M2F1AK002.21
052-5622-0 R25 R35 RES,METAL FILM,5.62K,1/4W,1% ECI M5F1AK005.62
053-0270-0 R1 RES ,CARBON FILM,2.7 ,1/2W,5% ECI R5J3AJ002.70
054-.100-0 R52-53 R55-56 R58-60 R63-64 R66-68 RES, METAL OXIDE, 0.1 Ohm, 1W, 5% ECI MO10J3AJ000.10
054-.330-0 R79 RES, METAL OXIDE, 0.33 OHM, 1W, 5% ECI MO10J3AJ000.33
055-0101-0 RA47-48 RES, METAL OXIDE, 10 OHM, 2W, 5% ECI MOM20J3AJ010.00
055-2702-0 R70-71 RES, METAL OXIDE, 2.7K OHM, 2W, 5% ECI MOM20J3AK002.70
056-0100-0 R46 RES, CERAMIC WW, 1.0 OHM, 5W, 10% ECI WWC50J3AJ001.00
059-1000-0 R17 R39 RES,MF,FUSE,10.0 OHM, 1/4W,1% JUKN.OHM FR25-10.0
059-1002-0 R20 R31 R50 R75 R78 RES,MF,FUSE,1.00K,1/4W,1% JUKN.OHM FR25-1.00K
059-4750-0 R26 R33 RES,MF,FUSE,47.5 OHM, 1/4W,1% JUKN.OHM FR25-47.5
059-6810-0 R61 RES,MF,FUSE,68.1 OHM, 1/4W,1% JUKN.OHM FR25-68.1
060-1001-0 R72 RES, METAL FILM, 100 OHM, 1/8W, 1% ECI M1F1AJ100.00
060-1002-0 R3 R7-8 R13 R19 R30 R38 R49 RES,METAL FILM, 1.00K, 1/8W, 1% ECI M1F1AK001.00
060-1003-0 R40-41 RES,METAL FILM, 10.0K, 1/8W,1% ECI M1F1AK010.00
060-1004-0 R36 R44 RES,METAL FILM, 100K, 1/8W, 1% ECI M1F1AK100.00
060-1821-0 R11 R14 R27 RES,METAL FILM, 182, 1/8W, 1% ECI M1F1AJ182.00
060-2001-0 R21 RES,METAL FILM, 200, 1/8W, 1% ECI M1F1AJ200.00
060-2002-0 R15-16 R22 R24 RES,METAL FILM, 2.00K, 1/8W, 1% ECI M1F1AK002.00
060-2003-0 R5-6 RES,METAL FILM, 20.0K, 1/8W, 1% ECI M1F1AK020.00

6250B1 BOM-2/5/2009-Rev B




700RB-Il Power Amp 206-0250-B1

Part No. Reference Description Manufacturer Mfr. Part No.
060-2004-0 R23 RES,METAL FILM, 200K, 1/8W, 1% ECI M1F1AK200.00
060-2431-0 R73 R77 RES,METAL FILM, 243 Ohm, 1/8W, 1% ECI M1F1AJ243.00
060-2432-0 R32 RES,METAL FILM, 2.43K, 1/8W, 1% ECI M1F1AK002.43
060-2742-0 R74 R76 RES,METAL FILM, 2.74K, 1/8W, 1% ECI M1F1AK002.74
060-3922-0 R29 RES,METAL FILM, 3.92K, 1/8W, 1% ECI M1F1AK003.92
060-4323-0 R10 R18 RES,METAL FILM, 43.2K, 1/8W, 1% ECI M1F1AKO043.20
060-4751-0 R51 R54 R57 R62 R65 R69 RES,METAL FILM, 475 ohm, 1/8W, 1% ECI M1F1AJ475.00
060-4752-0 R42 RES,METAL FILM, 4.75K, 1/8W, 1% ECI M1F1AK004.75
060-4753-0 R2 R34 RES,METAL FILM, 47.5K, 1/8W, 1% ECI M1F1AK047.50
060-5621-0 R12 RES,METAL FILM, 562, 1/8W, 1% ECI M1F1AJ562.00
060-7501-0 R37 RES,METAL FILM, 750 OHM, 1/8W, 1% ECI M1F1AJ750.00
070-0520-0 R28 POT,500B TRIM, 200mW SONG HUEI SH-655MCL-500B
081-0032-0 L1 INDUCTOR .4UH WITH 1 OHM 2W RESISTOR |SCHONBERG 081-0032-0
081-0055-0 L2 INDUCTOR,2UH,20A,AIR CORE SCHONBERG 081-0055-0
086-0000-0 FAN, 24VDC, 160MA, 80X80MM ADDA 08-24-HB-A70GL
091-0028-0 F1 FUSE,5mm, T8AL,250V,SEMKO LITTLE FUSE 218-008
091-1002-0 S1 THRM BRKR, 105C +/-5,0-DIFF, PC KLIXON 7AM-028-A5
092-0001-0 J10 CON, IECX3, 10A, 250V, PC TERM DIHTAIN DTS-0045
092-0066-0 J12-19 J21-24 FASTON, M, PC, .250" KEYSTONE 1021
092-0070-0 J1-2 JACK,SPEAKON,PC MOUNT, NEUTRIK NLAMOQSWITCHCRAFT HPCP41RA
092-0082-0 J6-7 JACK,1/4", MONO,PC, GROUNDING NEUTRIK S102-84G
093-0025-0 J5 J9 HDR,.1X2,VERT,MALE,LOCK,GOLD AMP 641126-2
093-0051-0 J3-4 HDR, 2MMX2, VERT, LOCK JST B2B-PH-K-S
093-1010-0 J20 HDR,.156X7,VERT,MALE,LOCK,SQUARE MOLEX 26-60-4070
093-2005-0 J8 HDR, 2MMX7, VERT, SHROUDED JST B7B-PH-K-S
094-0004-0 J11 FUSE CLIP, 5MM, 15A, P.C. MOUSER 44FH052
105-0014-0 INSULATOR TAPE 4"X7MIL THERMALOY SILPAD 400AC
111-7017-0 REG, LM35,LM3886 WASHER, SHOULDER,#4 NYLON

117-0097-0 TO-220,LM3886 BOLT,M3X9,M1,PHP/SW/PW,CHROME

117-0127-0 POWER TRAN BOLT,M3X12,M1,PHP/SW/PW,CHROME

117-0357-0 FAN BOLT,M3X35,M1,PHP/SW/PW,CHROME

117-7002-1 FAN WASHER,M3,PLAIN, CHROME

132-0024-F HEATSINK 700RB HEATSINK

145-0250-B 700RB-Il POWER AMP BOARD

153-0105-0 LABEL, BLANK,.9"X.25"

201- 0105-G CHASSIS GND WIRE ASSY,14GA,GRN/YEL,4",GND

6250B1 BOM-2/5/2009-Rev B




